usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0) asym_usl

= = Entries 70507
=) — B B -
s ° : evtiree 8000 - x x 900
5'} 12000 _ B :“-x: s i = Mean —-1.734
g [ I mniries 202209 6000 & S ﬁgt ngx x;—};x x§§§x§ :n::i 38 -
"4 d — e e St s 800 StdDev 1451
L g 10000~ Mean 4.633 4000 - % ' i
B ' i I - Underflow 3945
i _ : 700[~
3__ 4 2000 Std Dev  0.02765 2000 T - Overflow 4064
T 6000 — I :
oLl 3 - 2000 |- 500~
S 4000/~ i :
B :: — _4DDD : | i 1 i | i _%%_""_ 11111 ____" 4DU __
H I 60005 BN N T B 08X :
| | - o MO M = = o s —
; 2000 ¢ % % S % 5 300
B — n s s s s s s —
s § - -8000 [~ e i
m_ |||||||||||||||||||||||||||2ﬁ¢:'|l'.':|"3 D_IlllJ.Jl Lo b Lo Ll A T T N NN AN T NN NN NN TR NN N SO A NN NN A H‘IUS EUD_—'"'l""l""l""l""l""
0 ] 100 150 200 250 300 350 400 4.5 4 .55 4.6 4 .65 4.7 4.75 0 20 40 60 80 100 3000 -2000 —1000 0 1000 2000 3000
Entry$ usl*CurMon pattern_number ppm

run7266 000 maindet usl.png



dsl*CurMon:Entry$

c 0
= B : ]
= B E ¥
3 | 'gl:. - “
=~ —0.5F : E 3 i3
7} - . E e
= B f £ i
| T 3 b
t 3 ¥ B
— d - ET= Fil=
14 1 £ 4 T
B £ 38
3K . T L 5T
B AL = F tLe |l
i } o
| :' 7] 1 E :. ::
-1.51 1 :  E i t
- AE 1~ L |
B T W e b e
| o o ar o 2 - £
i 3 r R i
_ol 1 L R :
B i R ;
B - ] ¥t © :
| X C AL - el .
25+ 3
~L 2 el g
B &
B : T 4 E: : :
| o ] g E“ ;:
- s T g& s
_3 || i L T
Ak 0 .,
| : = g B v
= 4 T i
— " : 3 E:, 2
_S-ml [ | ; it 1.0 i s st il b 3.1t | [ |
0 50 100 150 200 250 300 350 400
Entry$

run7266 000 maindet dsl.png

x10°

10000

8000

6000

4000

2000

0

dsl*CurMon {ErrorFlag==0}

evilree

Entries 282269
Mean -3.498
otd Dev  0.01731

-3.58 -3.56 -3.54 -3.52 -3.5 -3.48 -3.46 -3.44 -3.42

dsl*CurMon

1500

1000

500

-500

-1000

—1500

asym_dsl/ppm:pattern_number {ErrorFlag==0}

}::-m'}{lllll

o
XX
XX KX
s XM MK
XXX s S
TTT TTXTX*X

HoMEA

gxx§xx

#

.
O
K A

e L
KAXAXETTTTT

re QQQQ-—-—-—-—}{-—Q"QQH}{%}E:@:— W 44l

- S v xxx%x Wws ST TR w gxxx

- Selehoned T Bk T RSN KT W W % *

* 5 Sonh T & S % G

i X

B x

B ] ] ] | ] ] ] | ] ] ] | ] ] ] | ] ] ] |
0 20 40 60 80 100

pattern_number

x10°

asym_dsl
- Entries 70507
4500 ;_ Mean 0.2933
4”““2_ Std Dev 357.9
3300 ;_ Underflow 0
BDDD;_ Overflow 0
25nnf—
EDDDf—
15nnf—
mnnf—
500 -
n' I IR ST A
—-3000 -2000 -1000 0 1000 2000 3000
ppm




usr*CurMon:Entry$

n
[T

usr*CurMon

B

d 4
Ak
Ak

]

T
A T
y .
A

T
]
o

AL
A

|II IIII|

[.E' IIII|II

I
AN

0 J 100
run7266 000 maindet usr.png

150 200 250 300 350 400

Entry$

x10°

12000

10000

8000

6000

4000

2000

usr*CurMon {ErrorFlag==0}

evilree

Entries 282269

Mean 4.75

Std Dev  0.02955

4.7 4.75 4.8 4.85 4.9

usr*CurMon

asym_usr/ppm:pattern_number {ErrorFlag==0}

10000 — ﬁ
- p
s
- s X X oo® X
s KW Mx K e
. s ggx U S TR A S - S
o MR MNERTHM | MXyEMTH | KX
MR X T nﬁﬁ—nxgn T XRXET | T gxxxxn
5000 TTTTIIETULTT LT TTTT 0 L TIXTTTT
-5000 (- ek LU LLLLL L) [l =l il (Ll 1 11]
. Hgﬁﬁnnx W mxd | % §HE§ % % X
MEHH O W Lok T xRk T x
L 2 HoxoX o Mx X %
S ST it
- % s
i pt
} l l | l l l | l l l | l l | l l l |
1DDDDD 20 40 60 80 100

pattern_number

x10°

asym_usr
- Entries 70507
900
B Mean 4.492
800~ Std Dev 1474
?DD}- Underflow 4666
i Overflow 4716
600 I
500~
400
300}
:I | I | | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
—3000 2000 1000 0 1000 2000 3000
ppm




dsr*CurMon:Entry$

- O
o B :
= B |
- — i
: [ e =
2 —0.5H . :
- — Y *
73] = i =
© -
_‘|_
— 1 Y- .
| 3K
Ak - " i
B !
- | i s
t 1 a8
B 3 sl :
20 E R
3 J il 5
B =T: d 3 ? a
— A P 8
_2-5_ : :-u- g 5-. g F:.
I Ak
- ] : ol ?
- . 1 ol q
SO g : Ok
= T A 3l i
| ] ¥ 5
-3.5H & ] B
- 3 + 3
_ 5 i
var LTl --Hih-ilu-....m.dd . T | |
i 50 100 150 00 250 300 350 400
Entry$

run7266 000 maindet dsr.png

x10°

10000

8000

6000

4000

2000

dsr*CurMon {ErrorFlag==0}

evilree

Entries 282269

Mean -3.781

otd Dev  0.02053

II|III|IIJ|III|III|III

-3.86-3.84-3.82 -3.8 -3.78-3.76-3.74-3.72 -3.7 -3.68

dsr*CurMon

1500

1000

500

-500

—-1000

—1500

-
- | N s e o ) T T
" I —

asym_dsr/ppm:pattern_number {ErrorFlag==0}

i“_‘:l{'ji{'“_‘::-l:’llll

| W

| #

| W
| W

|

1
HKxxmx b Rxx LIxxxxm ngﬁgkﬁ s,
KW MMM XM ERMxK X RMXKE KXxx
S 'S SIS S S w
x o mx Xoox o x
x . %
x
p
l l | l l l | l l l | l l l | l l l |
20 40 60 80 100

pattern_number

x10°

asym_dsr

- Entries 70507
4500:—

- Mean 1.28
4000

E Std Dev  373.2
BSDD:—

- Underflow 0
BDDD:— Overflow 0
EEDD:—

2000
1500:—
1000
500
D:IIII|II I|II|I_|_II III|IIII
—3000 2000 —1000 0 1000 2000 3000
ppm




yield usl:pattern_number {ErrorFlag==0} yield_usl {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0} asym_usl/ppm {ErrorFlag==0}

0.032|- - htemp 15000 - PairTree
B [ — P 7000
- 8000 F - A
i - Entries 141060 & X X% X - Entries 141060
0.0318— - - P b X -
: 7000 10000F o X%, XS 60001
- - 1 ek r [ Ssexsn | B SRR x Ex%s i
0.0316— 50001 Mean 0.03125 I fedets %éﬂzﬂﬁ __M}{gﬂ __M}{gﬂ - Mean 4.384
- - i T 000—
- 5000 |- 2000
0.0314 5000 Std Dev 0.0001123 i | : Std Dev 2577
. - i 40001
B - 0 Bs . B
0.0312 4000~ i H H H HHH H_ !
- 3000
0.031% S0001 50001} { :
g - I LILG ] 13sxll 2000 —
0.0308— B XX g-—}{ :x:g:x *x -
: - 10000 pe| % *% e ¢ 1000
| 1000 — 2 5 B
0.0306— B - % B
_III|III|III|III|III|H‘IUS D_Illll II|III|III|II|III|III|I _-IEDDD_III|III|III|III|III|:":‘IDS d|IIIJ_| II|IIII|IIII|II |IIII|
20 40 60 80 100 0.03060.0308 0.031 0.03120.03140.03160.0318 0.032 0 20 40 60 80 100 —QSDUD 10000 -5000 0 5000 10000 15000
pattern_number yield_usl pattern_number asym_usl/ppm

run7266 000 pairTree usl.png



yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

- 4000 :
_ : htemp ; : 4000 PairTree
- -{_ 4500~ - S o - S -
00234~ | i - Entries 141060 5000 T Tl 3500 Entries 141060
i 4000 1% -
! 3500 Mean  —0.02359 20001 I 3000 Mean 0.301
0.0235— . E 1] | LU LT ] -
"' 3000 Std Dev 6.399e—05 1000 il | 2500 Std Dev 1356
D.DEBE 25“':':_ OF HEEEEAREFREHERERERRRRERBERBRRERER N EDDD:—
2000 - | .
N —1000 |t ] S HHHLH LWL 1500
0.0237H 1500 | | -
3 N 2000 iE I 1000+
: 1000 : N
- - ~3000 N S S R 5 8 et et e O 6 Rl B e 500
0.0238 | __ | S00¢ N A L L -
—III|III|III|III|II..I| :":1“3 D:Illl I|I I|I I|III | _4DDD_III|III|III|III|III| H‘IDS D_llll IIII|IIII|IIII|IIII|IIII|IIII III|I
20 40 60 80 100 ~0.0238 -0.0237 -0.0236 -0.0235 -0.023 0 20 40 60 80 100 ~4000-3000-2000-1000 O 1000 2000 3000 4000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run7266 000 pairTree dsl.png



yield usr:pattern_number {ErrorFlag==0} yi8|d_USF {EI'I'UI'HE!Q::O} asym_usr/ppm:pattern_number {ErrorFlag==0} asym_usr/ppm {Errnglag::O}

- 15000 - "
- : htemp : H ; PairTree
0.0326/- | 7000 [ y -
- - Entries 141060 L R IV XX 6000~ Entries 141060
B » B 10000 WM K XX b W WX -
2 i 6000 — = KX ORTX XXX XTH O OXEX XTX X i
0.0324 [ - B - Wy | ® xxk % KK URERT | XX RR S _
- Mean 0.03203 H XXX | | B XRRER | | TREURKX | | TXRRRXX 5000 Mean 6.842
B I & X3 i
5000 5000 - i
0.0322 % N Std Dev 0.0001121 I - Std Dev 2621
- > i 4000 t
o S :
- -
i : 3000
3000 — l -
=, B : -
0.0318 : -5000 - 2000
: 20001~ gl 'é;;;;--;;;;;; LEseion| | 150 i
- B 1 R % wkd | % b | ™ L _
0.0316— - - ML | ® e g-—:x rm: g—-}: W -
i B e L i TR Hx x SwX 1000
B 1000 — 10000 e X ¥ % XHEHX i i
i _ B * p e -
D.D314_III|III|III|III|III|:":1“3 I_|IIL| I|III|III|III II|II _III|III|III|III|III|H‘IDS D_IIJl II|IIII|IIII|II |I_III|
20 40 60 80 100 %.0314 0.0316 0.0318 0.032 0.0322 0.0324 0.0326 0 20 40 60 80 100 —10000 -5000 0 5000 10000 15000
pattern_number yield_usr pattern_number asym_usr/ppm

run7266 000 pairTree usr.png



yield dsr:pattern_number {ErrorFlag==0}

0.0252
0.0253
0.0254

0.0255 8

0.0256 K

0.0257}

80 100
pattern_number

run7266 000 pairTree dsr.png

x10°

5000

4000

3000

2000

1000

yield_dsr {ErrorFlag==0}

htemp

Entries 141060

Mean —0.0255

Std Dev 7.467e—05

-0.0257 -0.0256 -0.0255 -0.0254 -0.0253 -0.0252

yield dsr

asym_dsr/ppm:pattern_number {ErrorFlag==0}

3000
n =
= U e
Eﬂﬂﬂ—}{ ot A 4 ot oM
i A A A A A L L4
A LR RO R TR R ROR LR R WU
- T R }{}{}{}{}{%—-}{ikﬁ}{}{ U }{}{}{}{
1000

o
101
I
I I
I
I
17 1
101
| B —
o1
I ¥
I F
I
I
I
I
I |
I
I V-
I |
I {
I |
I
07 1
I E—
I I
I
I —
I |
1
01
I I
I {

—-1000

-2000

T T [
L
I

0 20 40 60 80 100
pattern_number

x10°

6000

5000

4000

3000

2000

1000

asym_dsr/ppm {ErrorFlag==0}

PairTree

Entries 141060

Mean 1.317

Std Dev 539.2

-2000

-1000

0

1000

2000 3000
asym_dsr/ppm




asym_usl

asym_dsl

asym_usr

asym_dsr

run7266 000 asym maindet mutual

asym_usl

0.008

—70C

—60C
0.006

0.004

—150(

0.002

-0.002

-0.004

-0.006

-0.008

=
II|III|III|III|III|III|III|III|III|II

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008
asym_usl

: —70c
2.0015-
i —60(
0.001
N —50¢
0.0005 -
o
).0005 |
-0.001F
).0015 - =
_II|III|III|III|III|III|III|III|III|II
~0.0080.0060.0040.002 0 0.0020.0040.0060.008
asym_usl
n.m)_f S
n —90¢
0.01F
0.008F Hies
0.006 =70t
0.004 —60¢
0.002
OF
-0.002
-0.004 |
-0.006
-0.008
_Dhﬂll:llllllllII|III|III|III|III|III|III|II
~0.0080.0060.0040.002 0 0.0020.0040.0060.008
asym_usl
n —70¢
2.0015
- —B0c
0.001
- 50
2.0005-
- 40(
o™
- 30¢
).0005 -
- 20(
~0.001}-
mms: - 106
L _ "
_II|III|III|III|III|III|III|III|III|II

0

s —{701 s
0.0081— - 0.0081— 1P
- - n —80¢
0.006]- 60c¢ 0.006]-
- - —70(
0.004 —50¢ 0.004
: . : —60(
0.0021 0.0021
o o
N N 40(
~0.002] . ~0.002
§ § 30(
-0.004F -0.004F
-0.0081 -0.008F 200
-0.008 1 -0.008 10
_I | | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | 11 D _I 11 | 111 | 111 | 111 | 111 | 111 I 111 | 111 | 111 | L1l I 111
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 ~0.040.00£0.006.004.002 0 0.0020.004.008.0080.010.012
asym_dsl asym_usr
}_7 — —70( }_7 — —80¢
2.0015 2.0015}- O 0
- —B0C - —70t
0.001F 0.001F
¥ ¥ —60(
- —50( -
2.0005 2.00051 _ e
0 0 O 40(
2.0005 2.0005 . 30¢
~0.001F ~0.001F 200
; 100 ; 10€
2.0015F 4 2.0015 -
_I ] | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 11 D _I ] 1 | 1 11 | 11 1 | 111 | 11 1 | 1 11 I 11 1 | 11 1 | 11 1 | 111 I 1 11
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 ~0.040.00£0.006.004.002 0 0.0020.004.008.0080.010.012
asym_dsl asym_usr
n.m)_f = _180¢ n.m)_f =
0.008 0.008
- - —60(
0.006F —60¢ 0.006F
0.004 e 0.004 —50(
0.002 0.002
- 40( - 400
O O
- = 300 - 30(
-0.002F -0.002F
-0.004 - 20¢ -0.004 - 20(
-0.006 -0.006
N 10 - 10
-0.008F -0.008F
N o N
—D.ﬂ1_l 1 | 1 111 | 1 111 | 1 11 1 | 1 111 | 1 111 | 1 111 | 1 1 D —D.ﬂ _III|III|III|III|III|IIIIIIIlIIIlIIIlIIIIIII
-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 00.:010.0020.06@.000.002 0 0.0020.000.008.008 0.010.012
asym_dsl asym_usr
N —{70¢ N —(80c
).0015 i ).0015
N eoc N —70(
0.001 0.001
- - —60(
N —50( N
1.0005 1.0005
N N 50(
0 - 0 2 40
2.0005F i, 2.0005F - 30¢
-0.001F -0.001F 20(
- 10 -
2.0015F 2.0015F 100
_I 1 | 1 111 | 1 111 | 1 11 1 | 1 111 | 1 111 | 1 111 | 1 1 _I 1 1 | 111 | 111 | 111 | 1 11 | 1 11 I 111 | 111 | 1 11 | 111 I 1 11

CortelationiCoL

0
el ) 006D 004,002 0 0.000.004.000.008 0.010.012
IJ ]] asym_usr
. g

asym_dsr

0.008

—70C

0.006 — 60

0.004

—50C

0.002

-0.002

-0.004

-0.006

-0.008

-0.0015-0.001-0.0005 0 0.0005 0.001 D.0015
asym_dsr

=
II|III|III|III|III|III|III|III|III|II

asym_dsr

J.0015

—70(
| |

—60(
0.001

—50(

J.0005

J.0005

-0.001

J.0015

=
IIIIIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 0©0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

0.01

—80C
0.01
—70C
0.008

0.006 —60(

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

_DlﬂﬂlIII|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 0 0.0005 0.001 D.00O15
asym_dsr

asym_dsr

J.0015

—70C

—60(
0.001

—50C
J.0005

J.0005

-0.001

J.0015

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 0 0.0005 0.001 D.00O15
asym_dsr




asym_usl

asym_dsl

asym_usr

asym_dsr

run7266 000 asym

asym_usl

12 [ ndf

28.56 /37

p0 3.393e-07 £ 2.118e-07

P 0.999 £ 0.000

UL

-0.002

-0.004

-0.006

0.008 -

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008

ag;qm_usl

- ¥2 | ndf 30.5 / 37
0.4 PO 1.51e—07 + 1.38e—08
: ) p1 —.001083 + 0.0008342
0.2 J[
i J[ “ } Cor factor —0.0024
- } |
£ | L
0.2 1l
04— - |
_0.6-
—DLE;Illllllll|III|III|III|III|III|ITIIII
—0.0080.0060.0040.002 0 0.0020.0040.0060.008
2 | ndf 32,5537
p0 2 769206 + §.2676-08 -
p1 0.6043 £ 0.0038 ﬁ _
Pl
Cor factor 0.5800 HF J[
00—
ol
_0.002|-
- #JFHJ'*
0004 - ‘”Jrﬁjr
_0.006 | J[
-l_-||||||||||||||||||||||||||I||||||||||

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008

asym_usl

0.2—

-0.2—

—0.4

wml

¥/ ndf 41.92 / 37
po 1.212e-06 £ 1.441e-06
p1 -0.0008868 + 0.0008756

Cor factor —0.0055

il

—D.Dﬂ&ﬂ.ﬂﬂﬁﬂiﬁ#ﬂ.ﬂﬂ?
maind

& 0.0020.0040.0060.008

et mutual

asym_dsl

0.003 _ ¥/ ndf 32.28/38
. p0 7.317e-06 + 7.283e-06

0.002 _ p1 —0.02163 + 0.02310
E Cor factor —0.0024

0.001

-0.001— |

T ooy

—0.0015-0.001-0.0005

asym_dsl

0.0005 0.001 0.0015

2/ ndf

29.03/38

pd  —1.114e-08 £ 4.002e-08

Pl 0.999 £ 0.000

J.0005

-0.001

J.0015

—0.0015-0.001-0.0005

asym_dsl

0.0005 0.001 0.0015

¥ ndi 16.37 /38

p1 0.0004477 + 0.0241424

Cor factor

p0 8.58e 06 x 7.67e 06

0.0028

W"ﬂ

-0.001

-0.002

-0.003

-0.004

-:-'-'-«w*rq:phfﬁHJr

i

—0.0015-0.001-0.0005

asym_dsl

0.0005 0.001 0.0015

0.6

0.4

0.2

-0.2

-0.4

-0.6

-0.8

¥/ ndf a4.62 / 38
pO 1.041e-06 + 1.435e-06
p1 —0.003578 + 0.004525

Cor factor -0.0038

—0.0015-0.001-0.0005

_ corre

0.0005%, 0.001 0.0015

d

tion-fit.png

%2 { ndf 20.33/33 -
p0 6.439e-07 + 5.943e-06 “
o1 0.5472 + 0.0034 ﬁr{Hﬁ B
+1.++
Cor factor 0.5800 *
0 )
_0.002 ,;
Sk
~0.004 Hl[ f
~0.006
_l | 1 | | | | | | 1 | 1 | | | | | | 1 | | |
~0.01 —0.005 0 0.005 0.01
%2/ ndf 30.66 / 33 -
00 §.809e 08 + 1.3818 06 )
p1 0.0006903 + 0.0007910
Cor factor 0.0028 ]l
= -I- |
0 W‘p- HHH'F I:|¢| iy ST Flﬂl ||‘|+H-} ] k -
—0.2
_0.4 i
~0.6- )
_l | 1 | | | | | | 1 | 1 | | | | | | 1 | | |
~0.01 —0.005 0 0.005 0.01
%2 | ndf 39.19/ 33 -
PO -1.28e-07 + 2.51e-07
p1 0.9989 + 0.0001
0.002
of-
-0.0021
-0.004F E
-0.006 =
—0.008 .7
:l | 1 | | | | | | 1 | 1 | | | | | | 1 | | |
~0.01 —0.005 0 0.005 0.01
| 2 | ndf 40.48 /33
0.4 | p0 1.255e-06 + 1.441e-06
B p1 —0.001951 = 0.000830
D‘E__ ]l 1[ Cor factor —-0.0115
i . X
0 “ ###%WJFJ { i
L il
~0.2 }
~0.4
_D'E—r | 1 | | | | | | 1 | 1 | | | | | | 1 | |_ |
~0.01 —0.005 0 0.005 0.01

asym_dsr

E ¥2 | ndf 30.76/ 38
0.003—

| p0 6.708e—06 + 7.279e—06

i p1 —0.0235 + 0.0222
0.002

B Cor factor —-0.0055
0.001 }
—n.nm:— _
_Dlﬂﬂg_l_llllllllllIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 ©

asym_dsr

0.0005 0.001 0.0015

i ¥2 { ndf 38.38 /38
0.4+
] p0 5.783e-07 + 1.377e-06
0.2 p1 —0.00352 + 0.00418
- } h[ Cor factor -0.0038
01— MW?W#'W ]
- { f ! w
-0.2 {
—0.4F
-0.6— -
_D"EI_IllllllllllllllllllIIII|IIII|IIII_|II
-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
. - ¥/ nof 44.32 [ 38
0.003
- p0 7.729e-06 + 7.668e-06
0000 - p1 —0.0536 + 0.0232
B Cor factor -0.0115
= |
0.001 [
; H HH i ||L
—0.001
0.002
_I 111 | 1111 | 1 1 11 | 1 1 11 | 1 1 11 | 1 111 I 1 1 11 | 11
-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
2.0015F htel I Ip
B Entries 70507
0.001
B Mean 1.28e—06
7.0005
- Meany 1.28e—08
ok
- Std Dev 0.0003732
J.0005— Std Dev y0.0003732
~0.0011 <
1.0015F  ~
-_|-II_I|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 O

0.0005 0.001 0.0015



asym_usl asym_dsl asym_usr asym_dsr

0.0081— . 0.0081— 0.0081— 0.0081—
0.006 0.006F 0.006 0.006F :
0.004 0.004F 0.004F 0.004F
0.0021 0.0021 0.0021 0.0021
oF oF oF oF
aS ’ m USl 0.002 -0.0021 -0.0021 -0.002|
I | | | |
-0.004 -0.004F -0.004F -0.004F
0.006 -0.0081 -0.008F -0.0081
- - - - "
0.008 - -0.008 -0.008 -0.008
_II|III|III|III|III|III|III|III|III|II _II|IIII|IIII|IIII|IIII|IIII|IIII|II _IlllIII|III|III|III|IIIIIIIlIIIlIIIlIIIIIII _III|IIII|IIII|IIII|IIIIIIIIIlIIIIlII
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 ~0.040.0080.006.0040.002 0 0.002).004.008.0080.010.012 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl asym_usr asym_dsr
2.0015F 2.0015F 2.0015F 2.0015F
- - ‘,.r" - - .
- - 4 - -
0.001F 0.001F 0.001F 0.001F
2.0005 2.0005 2.0005 2.0005
e | ”Ill d l o o oF - oF |
S — S ).0005 | 2.0005 2.0005 1.0005
-0.001F ~0.001F ~0.001F ~0.001F
).0015 2.0015F 2.0015F 2.0015F
_II|III|III|III|III|III|III|III|III|II _II|IIII|IIII|IIII|IIII|IIII|IIII|II _IlllIII|III|III|III|III|III|III|III|III|III _III|IIII|IIII|IIII|IIII|IIII|IIII|II
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 ~0.040.0080.006.0040.002 0 0.002).004.008.0080.010.012 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl asym_usr asym_dsr
n.m)_f = n.m)_f = n.m)_f = n.m)_f =
0.01F 0.01 0.01 0.01
0.008 ) 0.008 0.008 s 0.008
0.006— 0.006— 0.006— 0.006—
0.004 0.004 0.004 0.004
0.002 0.002 0.002 0.002
:i — -0.002 -0.002— -0.002— -0.002—
-0.004 | -0.004 -0.004 -0.004
-0.006 -0.006 -0.006 -0.006 ]
- - - - '
-0.008 -0.008- -0.008- -0.008-
_Dhﬂll:llllllllII|III|III|III|III|III|III|II _Dlﬂ-ll:llllllllllll|IIII|IIII|IIII|IIII|II _Dlﬂ:IlllIII|III|III|III|III|III|III|III|III|III _Dlﬂ-ll:llI|IIII|IIII|IIII|IIII|IIII|IIII|II
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 08.010.0020.008.000.002 0 0.0020.0040.00.008 0.010.012 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl asym_usr asym_dsr
1.0015F 7.0015F : 1.0015F ‘ 7.0015F )
- . ..__.|'
0.001 0.001 0.001 0.001
2.0005 2.0005 2.0005 2.0005
0 _ 0 0 0
as ; m dsr ).0005 2.0005 2.0005 2.0005
I - - - -
-0.001F -0.001F -0.001F -0.001F
).0015 2.0015F 2.0015F 20015 -
_II|III|III|III|III|III|III|III|III|II _II|IIII|IIII|IIII|IIII|IIII|IIII|II _IlllIII|III|III|III|III|III|III|III|III|III _III|IIII|IIII|IIII|IIII|IIII|IIII|II

—D.DGED.DDED.WD.DGE O 0.0020.004 0.0060.008 —0.0015-0.001-0.0005 g 0.0 &D.Dm D.ﬂ[ﬂdﬁs —0.040.0080.00.00:0.002 0 D.nﬂm.nnm.nﬂm.nggfﬁuéw2 0.0 5-0.001-0.0005 0 0.0005 D.DGLED.?HDLE;F
_ _u ym_
run7266 000 asym maindet mutual correlation:scat.png



